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I1. 5 RE (40 percent)
1. At the announcement of dividend increases, stock price for American Oil Company
immediately jumps up. Is this evidence in conflict with the argument that dividend policy is
irrelevant? Please explain. (6%)

2. What are the possible explanations for the existence of [PO underpricing? (6%)
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A stock has an expected return of 10%, the risk-free rate is 3%, and the market risk premium is

8.5%. (8%)

(a) What is the beta of this stock?

(b) Is it possible that a risky asset could have a beta of zero? Please explain.

(c) Based on the CAPM, what is the expected return on a zero beta asset if risk-free rate and
market risk premium are 3% and 8.5% respectively.

You are evaluating two different bottling machines. Model I costs $290,000, has a three-year
life, and has pretax operating costs of $67,000 per year. Model II costs $510,000, has a five-
year life, and has pretax operating costs of $35,000 per year. For both bottling machines, use
straight-line depreciation to zero over the project’s life and assume a salvage value of zero. If
your tax rate 1s 35 percent and your discount rate is 10 percent. Which model do you prefer?

Why? (8%)

Why does the value of a share of stock depend on expected future dividends? Pleasc explain.
If currently a firm does not pay dividends, but investors are willing to buy sharesin it. How is
this possible? Please explain. (6%)

The expected returns and standard deviations for stock A and stock B are listed in the
following table: (6%)

Expected Return  Standard Deviation
Stock A 10% 15%
Stock B 16% 8%
Will any investor buy Stock A? Why or why not? Please explain.




